
Part Number Description UOM Price 2021

101204 M3X6 CSK SLT HD SCW EA 231

101254 M3X10 CSK HD SCW EA 44

101274 M3X10 HEX HD SCW EA 137

101506 M4X12 CSK SLT HD SCW EA 174

101520 M4X10 HEX HD SCW EA 238

101524 M4X20 HEX HD SCW EA 144

101553 M4X6 CSK HD SCW EA 44

101614 M4X4 SKT SET SCW EA 260

101820 M5X10 HEX HD SCW EA 346

101825 M5X25 HEX HD SCW EA 144

101860 M5X40 CSK SLT HD SCW EA 57

101876 M5X16 HEX HD SCW EA 124

104054 M6 X 20 MUDGUARD WASHER EA 107

104062 M10 STEEL FLAT WASHR EA 209

104166 M10 SPRING WASHER EA 44

104250 INSULATION WASHER EA 260

105005 M3 CAGE NUT (LEGACY) EA 224

105047 M3 NYLOC NUT EA 74

105115 M6 FULL NUT EA 396

105120 M8 FULL NUT EA 433

109050 1/4 X 20 UNC X 3/4 HEX S EA 137

11C0540 CATALITIC CONVERTOR ASSY EA 55,739

11H0064 MENUKEY CONNECTION LEAD EA 4,669

11K0008 MENUKEY USB PCB ASSY EA 15,565

11M0355 SPRING KIT 10 LEAF  BK OVENS ONLY EA 23,035

11M0432 SPRING KIT 6 LEAF EA 13,785

11M0433 SPRING KIT 7 LEAF (650) EA 12,935

11M0434 10 LEAF SPRING 500/DIECA EA 22,388

11M0436 3 LEAF SPRING 500 FAB EA 9,701

11M0457 3MTR MAINS CABLE ASSY - MICROCOOK EA 9,407

11M0458 MAINS CABLE ASSY EUROPE - MICROCOOK 500 EA 5,902

11M0459 MAINS CABLE ASSY UK - MICROCOOK 650mm EA 9,407

11M0460 MAINS CABLE ASSY EUROPE - MICROCOOK 650mm EA 9,407

11M0473 470R 50W RESISTOR ASSY - HD SERIES EA 6,156

11M0474 470R 75W RESISTOR ASSY - HD SERIES EA 7,913

11M0475 16A 2P+E MAINS LEAD ASSY  (PIZZA HUT) EA 9,407

18M0001 CAUTION LABEL EA 445

18M0002 WARRANTY LABEL MERRYCHEF EA 762

18M0003 LEAD WIRE HARNESS EA 22,798

18M0004 LEAD WIRE EA 956

18M0005 FERRITE CORE EA 883

18M0006 FOOT EA 513

18M0007 FOOT RUBBER EA 385

18M0008 CABINET BODY EA 12,219

18M0009 BASE EA 9,021

18M0010 BACK PANEL EA 5,705

Merrychef Price List valid till 31st March 2022



18M0011 CUSHION RUBBER B EA 194

18M0012 OVEN U CAVITY EA 40,081

18M0013 CEILING PLATE ROOF EA 6,368

18M0014 ANTENNA UPPER EA 3,819

18M0015 ANTENNA LOWER EA 9,986

18M0016 DOOR LATCH HOOK EA 551

18M0017 DOOR LATCH HOOK B EA 551

18M0018 DOOR A OUTER SKIN EA 6,260

18M0019 DOOR KEY LEVER B EA 2,101

18M0020 DOOR BODY E (U) EA 12,087

18M0021 DOOR HOOK EA 2,544

18M0022 HANDLE INNER EA 6,783

18M0023 M/SWITCH LEVER A EA 264

18M0024 M/SWITCH LEVER B EA 264

18M0025 M/SWITCH LEVER C EA 264

18M0026 DOOR SCREEN A FILM EA 2,231

18M0027 DOOR SCREEN B MERRYCHEF EA 10,778

18M0028 FAN MOTOR EA 14,967

18M0029 AIR FILTER FRAME EA 5,025

18M0030 EXHAUST GUIDE EA 2,544

18M0032 EXHAUST GUIDE B EA 632

18M0033 TEMP SENSOR WAVEGUIDE EA 523

18M0034 PC BOARD - CONTROL EA 10,340

18M0035 PC BOARD - DISPLAY EA 7,955

18M0036 PC BOARD D - POWER EA 12,782

18M0037 PCB H - LAMP EA 1,631

18M0038 PROTECTOR DIODE SI - CAP EA 2,706

18M0039 INSULATION SHEET - BODY EA 1,274

18M0040 PC BOARD RELAY EA 9,338

18M0041 ANTENNA MTR - TOP EA 2,384

18M0042 ANTENNA MTR - LOWER EA 2,384

18M0043 THERMAL CUTOUT CAVITY EA 650

18M0044 THERMAL CUTOUT MAGNETRON EA 777

18M0045 INSULATION SHEET D EA 194

18M0046 STACK DIODE 350MA - CAP EA 1,319

18M0047 HV TRANSFORMER EA 26,998

18M0048 FUSE 10A EA 455

18M0049 SPACER EA 132

18M0050 SPACER EA 318

18M0051 MEMBRANE SWITCH - M/CHEF EA 10,403

18M0052 HV CAPACITOR EA 5,342

18M0054 CONTROL PCB HOLDER EA 1,133

18M0055 FLAT CABLE EA 632

18M0056 FUSE 2.5A EA 766

18M0057 LAMP BRACKET EA 430

18M0058 BRACKET EARTH EA 264

18M0060 ESCUTCHEON B - LH EA 1,509

18M0061 ESCUTCHEON D - RH EA 1,509

18M0062 ESCUTCHEON MEMBRANE ASSY EA 11,711

18M0063 ESCUTCHEON SPACER EA 660

18M0064 SPACER EA 264



18M0065 POWER CORD W/PLUG EA 8,597

18M0067 CUSHION RUBBER C EA 194

18M0068 CUSHION RUBBER C EA 513

18M0069 CUSHION RUBBER C EA 155

18M0070 SHELF (OVEN BASE PLATE) EA 9,572

18M0071 CUSHION RUBBER A EA 62

18M0072 CUSHION RUBBER D EA 132

18M0073 CUSHION RUBBER D EA 308

18M0074 ANTENNA MTR COVER LOWER EA 318

18M0075 CUSHION RUBBER EA 132

18M0076 CUSHION RUBBER A/GUIDE B EA 75

18M0077 BASE BRACKET EA 455

18M0078 SPACER EA 200

18M0079 DOOR WINDOW FRAME EA 2,706

18M0080 DOOR HINGE EA 581

18M0081 DOOR KEY SPRING EA 62

18M0082 HANDLE PIN EA 53

18M0083 DOOR HINGE SPACER A EA 53

18M0084 DOOR CHOKE EA 1,250

18M0085 SPACER EA 132

18M0086 HANDLE OUTER EA 377

18M0087 SPRING INTERLOCK EA 253

18M0088 SPRING INTERLOCK EA 132

18M0089 AIR GUIDE A UPPER EA 551

18M0090 AIR GUIDE B LOWER EA 620

18M0091 MAGNETRON BRACKET EA 377

18M0092 OVEN LAMP SHEET EA 187

18M0093 INSULATION SHEET A EA 385

18M0094 MICROSWITCH PRIMARY EA 527

18M0095 MICROSWITCH SECONDARY EA 581

18M0096 MICROSWITCH SHORT EA 689

18M0097 CAPACITOR BRACKET EA 187

18M0098 FUSE BOX BRACKET EA 513

18M0099 SCREW WASHER EA 106

18M0100 SPACER A EA 128

18M0101 ESCUTCHEON A - PANEL CVR EA 1,472

18M0102 CORD BUSHING EA 381

18M0103 CLIP AIR FILTER LH (SML) EA 128

18M0104 BRACKET EA 498

18M0105 CLIP B  MAG A/GUIDE A EA 187

18M0106 CLIP ANTENNA LOWER/UPPER EA 233

18M0107 SCREW 4X10 CABINET BODY EA 26

18M0108 SCREW 5X10 HV TRANS EA 79

18M0109 SCREW 4X12 BASE EA 40

18M0110 SCREW 3X8 FOOT EA 40

18M0111 SCREW 3X8 TEMP SENSOR EA 75

18M0112 WASHER EARTH EA 385

18M0113 SCREW 4X12 GENERAL EA 40

18M0114 SCREW B/PANEL COVER EA 102

18M0115 SCREW 4X16 DOOR HANDLE EA 116

18M0116 SCREW 5X16 MAGNETRON EA 75



18M0117 MAGNETRON EA 15,095

18M1000 INSTRUCTION BOOK EA 2,569

18M1001 OPERATING GUIDE EA 1,509

18M2000 PACKING CASE PAPER EA 3,512

18M2001 VINYL COVER EA 391

18M2002 TRAY PACKING EA 385

18M2003 DOOR SHEET PACKING EA 264

18M2004 UPPER FILLER PACKING EA 1,041

18M2005 LOWER FILLER PACKING EA 2,138

18M2006 DOOR SHEET A PACKING EA 89

1922017 ALUMINIUM TAPE 55MTR ROLL 14,841

20Z0039 EXTRUSION - DOOR RUNNER EA 2,521

20Z0309 DOORGUIDE - RH EA 4,964

20Z0310 DOOR GUIDE - LH EA 4,964

20Z0710 SOLENOID CORK WASHER EA 2,521

20Z0970 PLUNGER EA 2,521

20Z1075 GLASS - 500 DOOR - MK1 & EA 5,100

20Z1080 FUSE COVER (PVC) EA 2,521

2175164 3/32 X 3/4 SPLIT PIN EA 231

2741021 CERAMIC SHAFT EA 7,482

2747048 MOTOR SPACER BOARD - CAVITY EA 7,508

2781050 8MM GSS SLEEVING VSR10 MT 2,521

30M0001 OUTER HANDLE MC1800 EA 5,873

30M0002 HANDLE GUIDE EA 2,521

30M0003 INNER HANDLE MC1800 EA 4,094

30M0007 DOOR CHOKE BODY EA 21,512

30M0008 DOOR BRACKET EA 6,116

30M0009 DOOR CATCH EA 2,521

30M0010 DOOR CATCH LINK ROD EA 2,521

30M0011 DOOR CATCH SPRING EA 2,521

30M0013 DOOR CATCH CRANK EA 2,521

30M0014 HINGE PLATE EA 2,521

30M0015 INNER DOOR FILM EA 2,521

30M0017 CONTROL PANEL COVER MC18 EA 5,187

30M0019 DISPLAY SCREEN MC1800 EA 2,521

30M0022 HOUSING SUPPORT BRACKET EA 2,521

30M0029 DECORATIVE TRIM LH EA 2,521

30M0030 TOP TRIM EA 5,326

30M0031 AIR INLET FILTER EA 4,038

30M0034 DECORATIVE TRIM RH EA 2,521

30M0036 MD1800 CAVITY ASSY EA 37,641

30M0037 LAMP COVER FILM EA 2,521

30M0038 LAMP 240V 15W SES EA 2,521

30M0039 LAMP HOLDER EA 2,521

30M0041 AIR DUCT EA 3,956

30M0043 THERMAL FUSE EA 2,521

30M0046 REAR AIR GUIDE EA 2,521

30M0051 MAGNETRON THERMOSTAT EA 3,506

30M0059 1UF SAMPO HT CAPACITOR EA 3,579

30M0062 MAGNETRON AIR SPLITTER EA 2,521

30M0063 MAGNETRON AIR DUCT EA 3,417



30M0064 COOLING DUCT COVER EA 2,521

30M0065 DOOR INTERLOCK HOLDER EA 2,521

30M0066 SPRING - LOWER INTERLOCK EA 2,521

30M0068 SPRING 1 - UPPER & MIDDL EA 2,521

30M0069 SPRING 2 EA 2,521

30M0070 TOP MICROSWITCH LEVER EA 2,521

30M0071 MIDDLE MICROSWITCH LEVER EA 2,521

30M0072 BOTTOM MICROSWITCH LEVER EA 2,521

30M0078 HV DIODE ASSY EA 4,710

30M0083 HT LEAD (SHORT) EA 4,483

30M0084 HT LEAD (LONG) EA 3,835

30M0092 FILTER SHELL CLIP EA 234

30M0093 FILTER OIN CLIP EA 234

30M0094 SWITCH HOLDER ASSEMBLY EA 14,861

30M0106 COOLING FAN ASSEMBLY 60Hz EA 14,126

30M4002 1804 OUTER HANDLE EA 5,873

30M4003 1804 INTER HANDLE EA 2,521

30M4009 1804 LATCH HOOK EA 2,521

30M4011 1804 SPRING EA 2,521

30M4065 1804 SWITCH HOLDER EA 3,241

30M4066 1804 SPRING EA 2,521

30M4071 UP LEVER EA 2,521

30M4072 1804 LOWER LEVER EA 2,521

30M4073 1804 MICROSWITCH EA 2,521

30M4074 MICROSWITCH 1804 MODEL EA 2,521

30Z0010 SOLENOID - 240V RH ASSEM EA 6,479

30Z0217 FUSE 1in 10A HRC EA 627

30Z0231 FUSEHOLDER 1in (13A) EA 3,491

30Z0235 220R 50W 5% WW EA 4,268

30Z0257 THERMAL TRIP 112C EA 4,038

30Z0284 SOLENOID - 240V LH ASSEM EA 6,479

30Z0285 FUSEHOLDER 1 1/4in EA 2,521

30Z0356 MICROSWITCH Z154 EA 3,600

30Z0367 FUSE 20MM 0.125A ANTI SU EA 868

30Z0382 BULB - 240V 100W BC EA 2,521

30Z0394 FUSE 1in 7A HRC EA 164

30Z0456 FUSE 1in 13A HRC EA 338

30Z0470 FUSE 5x20mm 1A A/S EA 164

30Z0477 ACRYLIC FOAM TAPE 8MM WI EA 487

30Z0503 SWITCH ON/OFF ROCKER DPS EA 3,551

30Z0901 LAMP - 5W SINGLE FLUORES EA 3,557

30Z0902 BALLAST SWITCH START EA 6,050

30Z0921 MAG COOLING FAN EA 30,206

30Z0941 AXIAL FAN EA 7,345

30Z0986 RELAY 320VAC 30A (DRUCKERS ONLY) EA 6,051

30Z1011 THERMAL FUSE 15A 250VAC EA 2,521

30Z1075 0.88UF 2300V CAPACITOR EA 3,755

30Z1078 1.25UF 2300V CAPACITOR EA 3,827

30Z1148 MOTOR START CAP 6uF EA 4,175

30Z1152 MAG COOLING FAN 208V 60H EA 13,619

30Z1177 20 AMP LITTELFUSE FLM020 EA 3,491



30Z1178 30A FUSE HOLDER EA 4,252

30Z1207 FUSE 1in 3A HBC EA 176

30Z1239 BULB-PEARL ES E27 230V 1 EA 2,521

30Z1249 0.6uF CAPACITOR 2500V EA 2,521

30Z1293 MTR SPEED CONTROLLER(US) EA 64,232

30Z1298 CAPACITOR - MOTOR START EA 3,186

30Z1319 MTR SPEED CONTROLLER(EU) EA 74,135

30Z1321 SPLIT FERRITE & PLASTIC EA 3,873

30Z1329 0.75uF CAPACITOR 2500V EA 6,881

30Z1330 0.88uF CAPACITOR 2500V EA 3,755

30Z1331 1.00uF CAPACITOR 2500V EA 3,835

30Z1332 1.05uF CAPACITOR 2500V EA 3,835

30Z1333 1.10uF CAPACITOR 2500V EA 3,835

30Z1337 HT TRANSFORMER 208V 60HZ EA 44,233

30Z1340 FILTER 16A SCREW MOUNT EA 3,203

30Z1401 STARTER CAP 1UF EA 2,521

30Z1423 500 BLOWER SINGLE FAN EA 41,234

30Z1425 LV TRANSFORMER EA 3,231

30Z1427 MAGNETRON OVERHEAT STAT EA 3,227

30Z1430 MICROSWITCH EA 5,012

30Z1431 1.2uF 2500V CAPACITOR EA 2,521

30Z1437 2.5uF STARTER CAP EA 2,521

30Z1439 OMRON RELAY 12V EA 3,491

30Z1440 OMRON RELAY 240V EA 2,765

30Z1443 FUSE 3A UL EA 940

30Z1444 FUSE 7A UL EA 1,167

30Z1445 FUSE 10A UL EA 191

30Z1446 STARTER CAP 2uF UL  (NOTE-4 BELOW) EA 2,521

30Z1447 STARTER CAP 2.5uF UL EA 2,521

30Z1448 STARTER CAP 6uF UL (MOTOR START) EA 2,521

30Z1455 TRANSFORMER LV CLASS 2 EA 4,458

30Z1457 eikon SRB 1.25A FUSE EA 309

30Z1459 MICROSWITCH EA 2,521

30Z1466 STARTER CAP UL 3UF EA 2,521

30Z1473 MTR SPEED CONTROLLER e2 EA 48,917

30Z1474 e2 THERMAL TRIP EA 9,852

30Z1475 CABINET FAN e2 LRG EA 6,232

30Z1476 CABINET FAN e2 SML EA 6,013

30Z1477 e2 MICROSWITCH SHORT ARM EA 2,521

30Z1479 e2 RFI FILTER EA 10,313

30Z1480 e2/e6 MAG HI LIMIT STAT EA 2,736

30Z1482 e2 MAINS FILTER 20VT-1 EA 36,975

30Z1486 MICROSWITCH EA 2,521

30Z1488 e4s MAINS FILTER EA 23,029

30Z1494 e2 US DEPENDANT SOCKET EA 12,236

30Z1495 VOLTAGE SWTICHING RELAY EA 3,041

30Z1501 0.91 uF HV CAP 2300V EA 6,566

30Z1504 e2 USA FUSE HOLDER EA 3,491

30Z1505 e2 USA LARGE FUSE HOLDER EA 4,736

30Z1507 12A FUSE SLOW/B EA 983

30Z1508 e2 FUSE 10A 11/4in EA 335



30Z1512 e6 SPEED CONTROLLER EA 52,313

30Z1514 RFI FILTER e6 EA 20,299

30Z1515 FUSE MAIN CIRCUIT e6 EA 4,103

30Z1517 FUSE BK/MDA-20-R T-LAG 20A 250V SLOW BLOW EA 227

30Z1521 e4s MTR SPEED CONTROLLER EA 54,152

30Z1526 e2 USA 15A FUSE EA 6,669

30Z1527 e2 USA 20A FUSE EA 7,017

30Z1534 e4s MAINS FILTER 20A EA 23,024

30Z1535 25 AMP LITTLEFUSE FLM025 EA 2,521

30Z1542 e2 FAN MOTOR AC 4300 H EA 12,119

30Z1549 0.95uF HV CAPACITOR EA 1,710

30Z1554 CONVOTHERM TOGGLE SWITCH e2S EA 4,730

30Z1562 AIR FILTER MICROSWITCH E2s EA 3,230

30Z1563 e2S RELAY 12VDC 16A 250V EA 1,539

30Z1566 SHORT LEVER MICROSWITCH EA 4,045

30Z1571 e3 SURGE PROTECT DEVICE EA 34,109

30Z1573 e2Ss MAINS FILTER EA 12,811

30Z1584 e1s ON OFF SWITCH EA 623

30Z1586 MICROSWITCH SHORT ARM EA 616

30Z1587 LV TRANS HCT Ea 4,418

30Z1588 SPEAKER EA 1,906

30Z1589 CAVITY OVERHEAT STAT EA 1,552

30Z1593 MAINS FILTER EA 4,808

30Z1594 2 STAGE MAINS FILTER EA 22,930

30Z1610 STARBUCKS KCCM USB EA 57,158

30Z1617 RJ45 90 DEGREE TWIST LOCK EA 3,922

30Z1618 USB 90 DEGREE TWIST LOCK EA 3,470

30Z1619 RJ45 PANEL MOUNT TWIST LOCK EA 3,675

30Z1620 USB PANEL MOUNT TWIST LOCK EA 3,843

30Z5010 CONTROL PCB e2 SRB EA 62,635

PSR109 DIODE PCB 750mA EA 6,532

30Z5014 CONTROL PCB e2 SRB VDE EA 58,978

30Z5017 e6 SRB BOARD EA 78323.25

30Z5019 ILLUMINATION BOARD WITH LEAD EA 3,494

P30Z5021 CONTROL PCB UNI SRB EA 45,176

30Z5022 MOTOR SPEED CONTROLLER e2s EA 45,559

30Z5027 DP5 CAP DISCHARGE TOOL EA 71,049

30Z5030 TOP BAND SPEED CONTROLLER EA 23,182

311080 FUSE 1 1/4in 1A A/S HBC EA 332

314613 GROMMET EA 71

31Z0008 AMP TAG PUSH ON EA 326

31Z0042 FOAM BACK TAPE RA52 FR MT 2,521

31Z0098 SILASTIC (WHITE) TUBE 5,352

31Z0099 SILICONE GREASE EA 4,700

31Z0111 WHITE WIRE EA 2,521

31Z0112 WHITE HT CABLE EPD EA 2,521

31Z0115 INSULATOR PAD EA 498

31Z0126 DELTA FILTER EA 647

31Z0158 S/ADH FOAM SEAL TAPE 50 MT 5,481

31Z0167 PROTECTIVE BOOT EA 2,521

31Z0172 S/ADH FOAM SEAL TAPE MT 2,521



31Z0186 SILASTIC (BLACK) TUBE 7,052

31Z0205 M3 NYLON SPACER(F/F) EA 294

31Z0206 M3 NYLON SPACER(M/F) EA 293

31Z0220 MOULDED PLUG & CABLE EA 5,178

31Z0239 FIBRE OPTIC CABLE MT 2,521

31Z0323 LAMPHOLDER - SINGLE FORM EA 1,943

31Z0387 32A (BLUE) SINGLE PHASE PLUG EA 8,647

31Z0410 ADHESIVE SEALANT 3 OZ EA 8,919

31Z0477 4 WAY MAINS TERMINAL BLO EA 2,521

31Z0519 10MM FOAM TAPE SE 515 10 EA 3,922

31Z0527 SILASTIC (RED) TUBE 10,430

31Z0531 MOULDED PLUG & CABLE 3MT EA 7,372

31Z0585 AC VOLTAGE CONNECTOR 6 W EA 3,159

31Z0586 DC VOLTAGE CONNECTOR 10 EA 3,159

31Z0587 RIBBON CONNECTOR 10 WAY EA 2,521

31Z0688 BTS UI SRB CABLE EA 2,521

31Z0600 USB ADAPTOR MODULE EA 3,491

31Z0604 PLUG+LEAD 2M RUBBER UK EA 5,178

31Z0605 PLUG+LEAD 3M RUBBER UK EA 7,372

31Z0606 PLUG+LEAD 2M RUBBER EU EA 5,178

31Z0620 BTS UI SRB CBL 1MT EA 2,521

31Z0621 e3 700W HEAT LOOM/RELAY EA 5,790

31Z0624 e5 MTR GOLD RESISTOR ASS EA 3,826

31Z0630 3-WAY TERMINAL BLOCK EA 2,521

31Z0631 CHOCH BLOCK 4-WAY EA 871

31Z0639 1025 HV LOOM KIT EA 2,521

31Z0640 1425/1725 HV LOOM KIT EA 5,357

31Z0641 1925/2020 HV LOOM KIT EA 5,272

31Z0651 3-WAY TERMINAL BLOCK EA 1,733

31Z0652 2-WAY TERMINAL BLOCK EA 980

31Z0654 e2 UK PARENT SOCKET 13A EA 23,787

31Z0655 e2 EU PARENT SOCKET 16A EA 32,083

31Z0659 e2 USA TWIN WIRE LOOM EA 4,985

31Z0661 e2 USA 2-WAY TERM BLOCK EA 1,172

31Z0680 ISOLATOR PLATE EA 908

31Z0685 CABLE BTS UI SRB EA 1,592

31Z0688 Patch Cable 0.5m QTS-SRB EA 2,521

31Z0679 POWER & COMMS CABLE EA 7,059

31Z1002 MOULDED RUBBER STOP EA 2,521

31Z1036 STRAIN RELIEF BUSHIN EA 2,521

31Z1070 CABLE GLAND EA 2,521

31Z1082 CABLE GLAND NUT EA 2,521

31Z1104 FAN FILTER ASSY EA 3,600

31Z1187 PUSH FIT FEET EA 2,521

31Z1218 MENUKEY KEY HOLE COVER EA 2,521

31Z1226 EC503 CATALYTIC CONVERTO EA 74,211

31Z1234 M/STREAM 401 TRIVET EA 6,122

31Z1250 MAINS ON/OFF SWITCH COVER EA 200

31Z1251 MAINS ON/OFF SWITCH BEZEL EA 219

31Z1252 BOLT M4X10 HEX HD (PARTITION PLATE) EA 231

31Z1255 PG21 CABLE GLAND BLACK EA 759



31Z1256 NUT FOR PG21 FOR 31Z1255 EA 296

31Z1259 SHEET COVER CAP 12MM DIA EA 174

31Z1261 CAPACITOR CLIP UNIVERSAL EA 2,521

31Z1266 PLUG AND LEAD ASSY (SUBW EA 11,943

31Z1269 HIGH TEMPERATURE TAPE 25 EA 704

31Z1275 FLEXIBLE CONDUIT 20MM X EA 2,521

31Z1289 HANDLE END CAP L/H EA 2,521

31Z1290 HANDLE END CAP R/H EA 2,521

31Z1293 STIRRER BLADE COUPLING EA 2,521

31Z1302 BADGE RETAINING SPRING EA 107

31Z1305 CABLE CLAMP EA 326

31Z1307 ETHERNET HOLE PLUG EA 2,521

31Z1308 CABLE GLAND PG16 EA 2,521

31Z1309 GLAND NUT PG16 EA 2,521

31Z1320 e2/e6 DOOR SWITCH SPACER EA 433

31Z1322 FAN GUARD LRG EA 501

31Z1323 FAN GUARD SML EA 495

31Z1324 e2 LEG 4 INCH EA 4,340

31Z1328 PLUG 1/2 INCH RND KICKEL EA 207

31Z1331 e2 US GLAND + NUT EA 665

31Z1335 eikon USB MENUKEY EA 2,521

31Z1362 AIR FILTER e6 EA 6,439

31Z1364 STEAM TUBE 1/2" NPT EA 3,593

31Z1368 e4s FAN WHEEL EA 10,384

31Z1372 ANTI SKID PAD  [FOR 31Z1324] EA 407

31Z1374 DOOR HINGE ASSY e2s EA 8,918

31Z1385 USB SPRING e2s EA 341

31Z1399 GLASS CLOTH TAPE 33METER ME 365

31Z1400 NYLON CABLE GLAND  PG21 EA 2,521

31Z1401 CABLE GLAND NUT EA 2,521

31Z1408 SILASTIC WHITE TUBE 6,457

31Z2003 R F EMISSION EA 80

31Z2092 LABEL - 20A FLM FUSE EA 192

31Z2117 LABEL WARNING - HOT EA 1,501

31Z2161 FCC LABEL FOR KCCM EA 1,013

31Z3001 M3X16 PAN HO POZI SC EA 44

31Z3002 M4 X 8 SOCKET HEAD SET S EA 252

31Z3012 NO.6 X 1 S/TAP SCRW EA 50

31Z3013 M5 X 10MM P/HD P SCW EA 50

31Z3017 M4X12 POZI PAN BZP EA 44

31Z3022 M5X16 PAN HO STL SCR EA 50

31Z3024 M3X8 PAN POZI SCREW EA 44

31Z3027 M3X20 PAN POZI SCREW EA 44

31Z3061 NO6 X 3/8 S/T SCREW EA 44

31Z3071 M6X40MM PAN HEAD EA 346

31Z3072 NO.6X1/2 S/S RSD CSK EA 181

31Z3077 NO 8 X 5/16 SELF TAP EA 44

31Z3080 M4X10 S/S POZI PAN EA 144

31Z3081 M6 x 16 SET SCREW EA 107

31Z3092 NO.8X1/2 TYPB S/TAP EA 44

31Z3093 M3X25 PN HD ZN&PAS EA 44



31Z3094 M3X12 CSK POZI HD A2 EA 57

31Z3106 M3X5 POZI PAN HD SCW EA 50

31Z3112 NO.4X3/8 ST POZI PAN EA 131

31Z3116 NO.6X1/2 ST POZI PAN EA 44

31Z3117 M3 X 12 HEX HEAD BZP EA 318

31Z3118 M3X30 PAN HD POZI EA 124

31Z3119 M3 x 8 HEX HEAD SETSCREW EA 124

31Z3126 No.8x3/8in HEXAGON HEAD EA 101

31Z3129 M4 x 6 HEX HEAD ST STEEL EA 131

31Z3132 M4 X 50 PAN POZI SCREW EA 137

31Z3133 M5X8 HEX HEAD THREADFORM EA 448

31Z3136 M4x8 HEX HEAD S/STEEL SC EA 181

31Z3143 NO 10x1/2 S/TAP POZI EA 101

31Z3145 M5X20 HEX HD SCW BZP EA 101

31Z3148 M5X5 SOCKET SET SCREW S/ EA 107

31Z3152 M5X12 HEX HD BOLT S/S A2 EA 268

31Z3154 M4x6 SET SCREW S/S A2 (IMPINGER) EA 238

31Z3157 M8X25 HEX HD SET S/S A2 EA 268

31Z3161 M4X10 HT SET SCREW ROHS EA 238

31Z3162 M3X6 POZI PAN Z/C SCREW EA 238

31Z3165 4.2x13 WSH FCD HEX STEEL EA 311

31Z3167 M2.5 X 12 HD POZI SCREW EA 238

31Z3168 M4X10 CSK SCREW BZP EA 238

31Z3170 M6 x 16 HEX HD SS EA 440

31Z3171 No8 X 10 HX HD S/S S/T S EA 433

31Z3191 M5 x 8 HX HD SCREW EA 49

31Z3192 No8 x 3/8 S/S DOMED SCREW EA 137

31Z3198 M3 x 16 DOMED CAP HD EA 231

31Z4000 M3 STEEL FULL NUT EA 44

31Z4009 M6 FULL NUT PZP EA 50

31Z4013 M5 STEEL FULL NUT EA 231

31Z4014 M4 NYLON FACE NUT EA 101

31Z4015 M4 STEEL FULL NUT EA 44

31Z4016 M5 FLANGE NUT EA 218

31Z4031 M5 KNURLED THUMB NUT EA 1,436

31Z4035 M6 SLOTTED KNURLED SCREW EA 515

31Z4037 M5 KNURLED COIN SLOT THUMB NUT EA 1,184

31Z4042 MOTOR COOLING FAN BLADE EA 4,695

31Z4044 BLOWER WHEEL C/W e2 EA 6,450

31Z4046 M3 CAGE NUT  M3 673-A  (eikon) EA 440

31Z4060 M4 DOME NUT S/S A2 EA 120

31Z5000 M3 STEEL FLAT WASHER EA 44

31Z5001 M3 SPLIT SPRING WASH EA 44

31Z5003 M4 STEEL SPRING WASH EA 44

31Z5004 M4 STEEL FLAT WASHER EA 44

31Z5005 M6 S/C SPLIT WASHER EA 44

31Z5006 M6 FORM B FLAT WASH EA 44

31Z5007 M5 STEEL SPRING WASH EA 238

31Z5008 M5 STEEL WASHER LRGE EA 231

31Z5009 M5 STEEL WASHER EA 44

31Z5012 M5 EXT SHAKEPROOF WASHER EA 50



31Z5018 M3 SHAKEPROOF WASHER EA 44

31Z5019 M4 SHAKEPROOF WASHER EA 44

31Z5025 M8 SPRING WASHER S/S EA 131

31Z5035 M8 PLAIN WASHER S/S EA 131

31Z7008 SUPPORT PILLAR 25MM EA 437

31Z7010 STAND-OFF - PCB EA 260

31Z7013 ADHESIVE(LOCT 499) EA 12,282

31Z7086 READ SWITCH RETAIN CLIP EA 992

31Z7086 REED SWITCH RETAIN CLIP EA 992

31Z7095 STANDOFF FEM/FEM M5 EA 468

31Z7096 MAGNET 30x10x10 EA 645

32Z4024 MERRYCHEF OVEN CLEANER U EA 1,429

32Z4025 MERRYCHEF OVEN PROTECTOR EA 2,585

32Z4028 HALF SIZE GASTRONORM DIS EA 5,578

32Z4031 BREAD BASKET SUBWAY USA EA 4,409

32Z4032 HASH BROWN TRAY EA 9,795

32Z4034 SLOTTED TURNER EA 5,033

32Z4043 e3 GASTRONORM DISH 1/6 S/STEEL EA 2,041

32Z4044 e2 COOKING PLATE EA 10,067

32Z4045 e2 SOLID BASE BASKET EA 3,307

32Z4046 e2 MESH BASE BASKET EA 3,307

32Z4051 e2 COOL DOWN PAN EA 3,537

32Z4052 COOK PLATE e6 EA 13,877

32Z4053 e2 USA GRIDDLE TRAY EA 7,416

32Z4054 BASKET MESH 292 x 343 x 25 (mm) EA 4,409

32Z4055 e4 & e6 SOLID BASKET EA 4,409

32Z4070 e4 SOLID BASE BASKET 12x14 EA 6,815

32Z4076 e2 SOLID BASE BASKET EA 4,610

32Z4079 GASTRONORM 1/4 65mm PAN EA 3,129

32Z4080 e2s SOLID BASKET 11"x11" EA 4,510

32Z4081 e2s PERFORATED BASKET 11"x11" EA 4,510

32Z4086 e4s/e6 SOLID BASKET 13.5" EA 5,512

32Z4088 e2s LINER EA 1,361

32Z4089 e2s SOLID BASKET 1/4 SIZE - BLACK EA 3,307

32Z4090 e2s SOLID BASKET 1/2 SIZE - BLACK EA 4,009

32Z4093 e2s SOLID BASKET 11"x11" - GREEN EA 4,510

32Z4094 e2s SOLID BASKET 1/2 SIZE - GREEN EA 4,009

32Z4095 e2s SOLID BASKET 1/4 SIZE - GREEN EA 3,307

32Z4096 e2s GREEN LINER EA 1,361

32Z4097 e2 SOLID BASKET 1/2 SIZE - RED EA 4,009

32Z4098 e2 SOLID BASKET 1/2 SIZE - GREEN EA 4,009

32Z4099 e2 SOLID BASKET 1/2 SIZE - BLUE EA 4,009

32Z4100 e2s SOLID BASKET 11"x11" - RED EA 4,510

32Z4101 e2s SOLID BASKET 11"x11" - BLUE EA 4,510

32Z4113 4 EGG MOULD EA 10,611

32Z4115 OMLETTE BOWL EA 11,564

32Z4116 12 GYOZATRAY (AJINAMOTO) EA 18,502

32Z4117 2 GYOZA TRAY (AJINAMOTO) EA 11,019

32Z4118 1L CONTAINER (GN) EA 23,943

32Z4119 1/2L CONTAINER (GN) EA 19,862

32Z4123 RED QUARTER SIZE BASKET EA 3,307



32Z4125 BLUE QUARTER SIZE BASKET EA 3,307

32Z4126 2 TRAY MOULD EA 10,611

32Z4128 LARGE COOK TRAY EA 20,270

32Z4131 e4 MUFFIN EGG TRAY 4x4 EA 29,929

32Z4132 NON STICK MOULD 9X EA 25,848

32Z4133 e4 LIDDED BASKET  BACON COOKER EA 12,928

32Z4134 e2s LIDDED BASKET EA 11,926

32Z4135 e1s SOLID BASKET 11"x11" EA 4,510

32Z4136 e1s LINER EA 1,092

32Z4165 FULL SIZE SIGNATURE TRAY  SOLID 11" SQ EA 6,013

32Z4166 FULL SIZE SIGNATURE MESH  MESH 11" SQ EA 5,512

32Z4170 FULL SIZE SIGNATURE TRAY  SOLID 12"x11" SQ EA 7,015

32Z4171 FULL SIZE SIGNATURE MESH  MESH 12"x11" SQ EA 6,013

32Z4175 FULL SIZE SIGNATURE TRAY  SOLID 13.5" SQ EA 7,517

32Z4176 FULL SIZE SIGNATURE MESH  MESH 13.5" SQ EA 6,514

32Z5005 LOCTITE 243 THREADLOCK EA 22,697

32Z7061 PERSONALITY MODULE e3 SRB EA 6,613

32Z7062 PERSONALITY MODULE e4 SRB EA 6,613

32Z7063 PERSONALITY MODULE e5 SRB EA 6,613

32Z7064 PERSONALITY MODULE e3 BTS EA 6,613

32Z7065 PERSONALITY MODULE e4 BTS EA 6,613

32Z7066 PERSONALITY MODULE e5 BTS EA 6,613

32Z7069 PERSONALITY MODULE e2 SRB EA 2,521

32Z7071 e6 SRB PERSONALITY MOD EA 2,521

32Z7072 PERSONALITY MODULE e2 QTS EA 2,521

32Z7074 e6 QTS PERSONALITY MOD EA 2,521

32Z7075 PERSONALITY MODULE e4s SRB EA 2,521

32Z7076 PERSONALITY MODULE e4s QTS EA 2,521

32Z7079 PERSONALITY MODULE e2s SRB EA 2,521

32Z7080 PERSONALITY MODULE e2s QTS EA 2,521

32Z7081 PERSONALITY MODULE e1s SRB EA 3,069

32Z7082 PERSONALITY MODULE e1s QTS EA 3,069

32Z7092 e2s STAR QTS PM EA 3,299

33Z0003 e4 230V R/H TRANS LOOM EA 3,299

33Z0004 e4 230V L/H TRANS LOOM EA 3,299

33Z0005 e4 TRANSFORMER LOOM EA 2,521

33Z0006 e4 COOLING FAN LOOM EA 2,521

33Z0007 e4 L/H HT LOOM EA 2,521

33Z0008 e4 R/H HT LOOM EA 2,521

33Z0009 e4 LV LOOM EA 4,640

33Z0010 e3 MAIN LOOM EA 14,278

33Z0011 e3 FILTER & FUSE LOOM EA 2,521

33Z0012 e3 LV TRANSFORMER LOOM EA 2,521

33Z0013 e3 HV TRANSFORMER LOOM EA 2,521

33Z0014 e3 TREM BLK TO FUSE LOOM EA 2,521

33Z0015 e3 HT LOOM EA 2,521

33Z0016 e3 LV LOOM EA 3,053

33Z0018 e5 MAIN LOOM EA 11,437

33Z0019 e5 TERM BLK TO FUSE LOOM EA 2,521

33Z0020 e5 RH TRANSFORMER LOOM EA 2,521

33Z0021 e5 FILTER & FUSE LOOM EA 2,521



33Z0022 e5 LH TRANSFORMER EA 2,521

33Z0023 e5 RH HT LOOM EA 2,521

33Z0024 e5 LH HT LOOM EA 2,521

33Z0025 e5 LV TRANSFORMER LOOM EA 2,521

33Z0026 e5 LV LOOM EA 3,983

33Z0027 GENERIC HEATER LINK (77) EA 2,521

33Z0028 GENERIC HEATER LINK (78) EA 2,521

33Z0029 GENERIC EARTH WIRE EA 2,521

33Z0031 e4 MTV L/H TRANS LOOM EA 2,521

33Z0032 e4 MTV R/H TRANS LOOM EA 2,521

33Z0033 e4 MTV RELAY LOOM EA 2,521

33Z0036 e2 SRB LOOM EA 10,119

33Z0037 e2 HV LOOM EA 2,521

33Z0038 e2 ON/OFF SWITCH LOOM EA 3,873

33Z0041 e2 CAVITY/MAG STAT LOOM EA 1,973

33Z0042 e2 CONVECT CONTROL LOOM EA 2,186

33Z0043 e2 FUSE AND FILTER LOOM EA 2,543

33Z0044 e2 FILTER / TERM LOOM EA 2,543

33Z0045 e2 AUXILIARY TRANS LOOM EA 2,521

33Z0054 e4s HT LOOM LH EA 2,521

33Z0055 e4s HT LOOM RH EA 2,521

33Z0056 e4s LV LOOM EA 7,007

33Z0062 e4s MTV RELAY LOOM EA 2,521

33Z0068 e2 PARENT EARTH WIRE EA 2,521

33Z0069 e2 PARENT FUSE TO FUSE EA 2,521

33Z0070 e2 PARENT FUSE TO SOCKET EA 2,521

33Z0074 MALE ADAPTOR LOOM EA 2,521

33Z0076 e4s COOLING FAN LOOM EA 2,521

33Z0078 e4s LV TRANSFORMER LOOM EA 3,074

33Z0079 e4 FILTER FUSE LOOM EA 5,048

33Z0081 e4 MAIN LOOM (PHB) EA 18,103

33Z0082 e4s LINK 1 NEUTRAL EA 2,521

33Z0083 e4s LINK 2 EARTH EA 2,521

33Z0103 e2s HV LOOM KIT 1000W & 2000W MODELS EA 2,521

33Z0105 e2s ON/OFF LOOM EA 3,873

33Z0106 e2s FUSE/MAINS LOOM EA 2,521

33Z0107 e2s MOTOR CONTROL LOOM EA 2,521

33Z0108 e2s MAG/OVERHEAT CUTOUT EA 2,521

33Z0112 e2s FILTER EARTH EA 2,521

33Z0115 MULTI VOLTAGE RH TRANS 60Hz EA 2,521

40C0864 SHELF SUPPORT CTM3 EUROP EA 17,683

P40C0948 HEATER ELEMENT 3.0 KW 24 EA 10,508

P40C0949 HEATER ELEMENT 3.0 KW 20 EA 8,093

40C1007 STIRRER BLADE HIGH DISTR EA 4,595

40C1020 OVEN DOOR HANDLE EA 7,744

40C1206 RACK - MEALSTREAM EC502 EA 13,486

40C1211 RF TRAP ALIGNMENT TOOL EA 36,681

40C1217 EC501- WAVE TRAP (HOT AI EA 10,430

40C1218 TRAY LINER EA 5,170

40C1230 SHELF RUNNER - SINGLE EA 9,130

40C1242 EC503 CAT COVER - REMOVA EA 28,272



40C1243 EC503 BAFFLE PLATE - REM EA 26,296

40C1249 THV2 ELEMENT COVER PLATE EA 17,533

40C1299 BASE SEAL LONG EA 599

40C1300 BASE SEAL SHORT EA 152

40C1305 DOOR HANDLE - USA EA 5,404

40C1307 500 COOL BOX BASE EA 3,507

40C1312 500 SIDE PANEL LH EA 11,078

40C1313 500 SIDE PANEL RH EA 11,078

40C1314 500 LID EA 10,198

40C1317 500 DOOR SKIN EA 12,510

40C1336 CONTROL INSULATION MOUNT EA 737

40C1337 CAVITY INSULATION MOUNT EA 3,503

40C1340 CHOKE PLATE HARMNISED EA 17,732

40C1344 BASE SEAL 1-PIECE EA 2,521

40C1350 LOWER TRIM MOUNT BRKT FINISHED EA 2,534

40C1394 STEAM VENT CAP EA 2,521

40C1410 e5 REED SWITCH ASSY EA 3,283

40H0046 CAPACITOR CLIP - SINGLE EA 2,521

40H0221 EC403 CAT COVER (REMOVAB EA 15,112

40H0230 ALUMINIUM TRAY - PTFE CO EA 13,196

40H0234 PIZZA TRIVET FOOT EA 396

40H0236 BLANKING PLATE BAFFLE EA 12,891

40H0240 ROUND GRIDDLE TRAY EA 7,754

40H0249 CAST TURNTABLE DISK EA 1,496

40H0259 RUBBER BASE SEAL LONG EA 2,521

40H0260 RUBBER SEAL SHORT EA 2,521

40M0073 WINDOW - LAMP EA 2,521

40M0366 DOOR CAP - MK2 EA 2,521

40M0492 LAMPSHIELD - MICROCOOK/V EA 4,216

40M0508 TUNING STUB EA 2,521

40M0509 AIR OUTLET DUCT EA 3,037

40M0539 TUNING STUB - 600/650 OV EA 7,382

40M0544 COLD AIR DUCT EA 4,084

40M0563 ROOF - FIRE RETARDANT EA 8,510

40M0600 SMALL CAPACITOR CLIP EA 2,521

40M0614 SAFE EDGE COVER EA 2,521

40M0640 L/H OVEN BASE EA 2,521

40M0641 R/H OVEN BASE EA 2,521

40M0801 DOORSIDE LH 650 DOOR EA 7,714

40M0802 DOORSIDE RH 650 DOOR EA 7,714

40M0877 ROOF - TURBOAIRE EA 11,893

40M0878 COOLING SLEEVE TURBOAIRE EA 20,419

40M0883 FLAT BACK CASE EA 25,475

40M0919 DOORSIDE LH EA 5,187

40M0920 DOORSIDE RH EA 5,187

40M0934 BRACKET - MAINS FILTER EA 2,521

40M0973 MICROCOOK CAPACITOR SHIE EA 2,521

40M1049 MD SERIES MEMBRANE PANEL EA 8,490

40M1062 MODIFIED TOP PANEL KFC EA 12,097

40M1074 MICROCOOK - CAVITY LINER EA 5,986

40M1078 MD CAVITY LINER EA 6,394



40M1097 HD SERIES USA BACKCASE EA 34,766

40M1098 LONG RUBBER SEAL EA 2,521

40M1099 SHORT RUBBER SEAL EA 2,521

40M1119 TOP PANEL + MK PAINTED EA 13,245

41C0001 500 BACK PANEL (E-CON) EA 18,395

41C0005 501 LOWER TRIP ASSY EA 25,175

41C0008 500 COOLING DUCT EA 6,299

41C0009 DOOR INSULATION KIT EA 5,515

41C0011 CAVITY INSULATION KIT e2s EA 17,216

41C0018 AIR FILTER ASSY e5 EA 15,559

6004011 RUBBER FOOT O 40x25 EA 2,521

790046 STEAM VENT PIPE NON PLAT EA 12,267

790047 ELEMENT COVER PLATE EA 18,310

790048 WAVEGUIDE EA 20,458

790049 WAVEGUIDE GASKET EA 2,521

790050 WAVEGUIDE SEALING PLATE EA 3,681

790057 LEFT HAND SCREEN EA 4,729

80T7133 M6X12 HEX HD EA 252

80X7003 M5 FULL NUT ST/STEEL EA 87

80X7025 M5 DOME NUT STAINLESS ST EA 437

81W7953 CLIP HOSE SIZE 1A EA 1,184

DB0031 DOOR CHOKE e2s EA 7,832

DB0063 THERMOCOUPLE ASSEMBLY ANGLED EA 3,826

DB0088PTFE UPPER IMPINGER PLATE e2s EA 3,307

PSB3108 e2s COOK PLATE EA 13,877

DB0127 TOUCHSCREEN OVERLAY e2s EA 5,411

DB0167 CONTROL D EA 3,287

DB0179 REAR CASEWORK PRESSED e2s EA 8,687

DB0183 GREASE DRIP LIP - e2s EA 3,256

DB0205 REAR SCREEN FIXING - MERCHANDISE PNL EA 1,217

DB0277 USB SEAL e2s EA 1,071

DB0279 MOUNT SEAL e2s EA 1,280

DB0301 e2s SIDE TRIM PLASTIC EA 1,592

DB0303 SMALL FILTER BRACKET e2s EA 3,839

DB0322 CONTROL D GASKET e2s EA 1,237

DB0359 e2s DOOR SKIN - CLASSIC EA 18,230

DB0365 LARGE RAD CAP CLIP EA 2,250

DB0368 CONTROL PANEL TREND - COSTA EA 18,137

DB0369 CONTROL PANEL - CLASSIC EA 18,557

DB0370 AIR FILTER BODY V2 - COSTA EA 14,713

DB0371 AIR FILTER BODY V2 e2s EA 16,408

DB0373 DOOR SKIN TREND - COSTA EA 12,608

DB0386 MAGNET CLIP V7 RH EA 1,899

DB0391 AIR DIFFUSER e2s EA 4,082

DB0484 e2s DOOR SKIN CL  MARINE EA 14,972

DB0486 LARGE RAD CAL CLIP  MARINE EA 2,665

DB0488 CONTROL PANEL CL  MARINE EA 19,059

DB0514 e2s OVERLAY EA #VALUE!

DB0549 AIR FILTER BODY CLASSIC V3 EA 35,477

DB0565 CONTROL D - SPLINE EA 1,362

DB0566 e2s MAIN FRAME ASSY EA 80288.25



DB0568 e2s LOWER GRILL PLATE EA 57,818

DB0569 e2s TOP GRILL ASSY EA 72,871

DB0694 e2s OVERLAY - WELBILT EA 5,451

DB0574 e2s GRILL OPERATOR EA 2,041

DB0626 e2s OVERLAY EMC  JP EA 5,646

DB0655 e2s OVERLAY JAPAN EA 7,057

DB0694 e2s OVERLAY - MERRYCHEF EA 5,451

DB0719 FLAT/GRIDDLE COOK PLATE EA 20,406

DB0726 e2s UPPER IMPINGER PLATE  (NOTE-6 BELOW) EA #VALUE!
DB0739 FLAT/FLAT COOK PLATE e2s EA 16,325

DB0795 SBX OVERLAY EA 3,989

DB0797 STARBUCKS LH CASEWORK - BLACK EA #VALUE!

DB0798 STARBUCKS RH CASEWORK - BLACK EA #VALUE!

DB0820 MODIFIED BACK PANEL EA 12,550

DB0831 LH CASEWORK SBUS BLACK EA 25,162

DB0832 RH CASEWORK SBUS BLACK EA 25,162

DB0862 SB OVERLAY UPDATED EA 3,632

DC0179 e1s USB INTERFACE EA 341

DC0189 TOP CASEWORK EA 6,068

DC0191 CATALYST EA 3,077

DC0219 CONTROL PANEL GASKET EA 276

DC0238 IMPINGER PLATE EA 4,053

DC0244 CONTROL PANEL EA 10,753

DC0245 FLAT OVERLAY EA 4,230

DC0248 DOOR SKIN EA 7,387

DC0288 MOULDED BASE SEAL EA 2,220

DC0301 CAPACITOR CLIP EA 1,102

DC0320 WIRE RUNNER EA 1,396

DC0322 FLAT COOK PLATE e1s EA 9,921

DC0324 DOOR CHOKE e1s EA 3,163

DC0327 e1s WIRE RACK e1s EA 3,207

DG0009 HORN QUARTZ e6 EA 4,955

DG0028 e6 BASE SEAL EA 2,521

DG0029 CATALYST 6.4X2.5X1.0 EA 19,433

DG0051 e6 BOTTOM JET PLATE FINISHED EA 8,873

DG0058 e6 CONTROL PANEL FINISHED EA 8,344

DG0059 e6 TOP PANEL EA 9,499

DG0060 e6 SIDE PANEL RH EA 18,484

DG0061 e6 SIDE PANEL LH EA 18,484

DG0069 e6 MAINS LEAD DH (30A) EA 31,058

DG0143 TOP HEATER RADIANT OVEN EA 55,499

DG0144 HEATING ELEM-RAD WATLOW EA 26,069

DG0172 e6 MAG EXHAUST SHROUD EA 1,118

DG0173 e6 MAG INLET SHROUD EA 1,880

DG0175 e6 STEAM PIPE EA 774

DG0182 e6 FUSE BOX COVER EA 2,645

DG0183 e6 GREASE TRAY LONG EA 7,390

DG0204 e6 PARTITION PLATE BRKT EA 4,030

DG0214 e6 UNDER DOOR COVER EA 5,684

DG0220 e6 DOOR SKIN FINISHED EA 10,776

DG0227 e6 DOOR CHOKE FINISHED EA 8,349



DJ0001 MAG FAN SHROUD 2  e2 EA 2,521

DJ0009 HORN COVER FRAME e2 EA 3,674

DJ0024 UNDER DOOF COVER ASSY EA 5,471

DJ0054 CONTROL PANEL FINISHED EA 15,353

DJ0063 DRIP PAN FINISHED e2 EA 6,728

DJ0077 DOOR CHOKE PLATE EA 7,873

DJ0078 CAPACITOR CLIP e2 EA 2,521

DJ0080 e2 CATALYST EA 14,629

DJ0081 e2 HEATER ELEMENT EA 25,724

DJ0083 HORN QUARTZ 4INCHx2INCH  e2 EA 6,686

DJ0099 FLAT BASE FINISHED e2 EA 5,310

DJ0100 e2 BASE SEAL EA 2,521

DJ0118 REAR FAN SHEILD EA 3,287

DJ0122 LID FINISHED e2 US EA 11,360

DJ0123 BACK COVER FINISHED US EA 8,276

DJ0136 e2 16A EU MAINS LEAD ASSY EA 5,417

DJ0137 e2 32A EU MAINS LEAD ASSY EA 16,406

DJ0138 e2 USA 20A MAINS LEAD EA 31,809

DJ0139 e2D MAINS LEAD SP 15A EA 30,498

DJ0140 e2P MAINS LEAD DF 30A EA 57,398

DJ0141 REAR DUCT USA e2 EA 3,352

DJ0144 USA CARTRIDGE FILTER EA 7,587

DJ0185 MAG FAN SHROUD MK2 EA 5,439

DJ0412 MOTOR INSULATION UPGRADE EA 5,057

DJ0415 e2 P-PRESS FRAME ASSY EA 82696.5

DJ0416 e2 P-PRESS LANDING PLATE EA 14,293

DJ0417 e2 P-PRESS LOWER GRILL EA 57,030

DJ0418 e2 P-PRESS TOP GRILL ASSY EA 68,356

DR0006 REED SWITCH EA 2,521

DR0007 MERRYCHEF BADGE EA 4,740

DR0008 MERRYCHEF BADGE SLIDER EA 607

DR0009 MERRYCHEF BADGE GUIDE EA 580

DR0011 TOUCHSCREEN OVERLAY EA 2,181

DR0020 CAVITY TEMP SENSOR EA 4,781

DR0021 HARMONISED SPEAKER EA 2,521

DR0030 HANDLE SPACER EA 1,063

DR0042 eikon OVERHEAT STAT SML EA 5,969

DR0045 SPEAKER WIRE EA 2,521

DR0047 MERRYCHEF BADGE SEAL EA 3,317

DR0049 MERRYCHEF BADGE EA 2,521

DR0050 MERRYCHEF BADGE SEAL SM EA 2,521

DR0051 MERRYCHEF BADGE SLIDER SM EA 520

DR0056 CHROMIUM PLATED STEEL RACK e3 EA 4,409

DR0057 CHROMIUM PLATED STEEL RACK e5 EA 5,612

PSR122 STIRRER COVER - CERAMIC EA 10,969

DR0079 OVEN TEMP STAT EA 5,596

DR0156 PANINI PRESSS SQUEEGEE EA 7,146

DR0158 e2 GRILL OPERATOR ASSY EA 2,102

DR0178 CAVITY THERMOCOUPLE e1s EA 7,145

DR0186 COMMON MODE CHOKE ASSY EA 6,005

DV0052 MENUKEY DUST COVER EA 2,521



DV0061 IMPINGER THUMB NUT EA 2,521

DV0152 RUBBER BASE STRIP 438MM EA 2,521

DV0153 RUBBER BASE STRIP 510MM EA 2,521

DV0168VIT DOOR CHOKE (PRESSED) EA 18,446

DV0187 TOP PANEL (PRESSED OVENS EA 19,873

DV0202 CERAMIC PLATE RETAINER EA 548

DV0208 HEATER ELEMENT RETAINER EA 2,521

DV0209 HEATER ELEMENT RETAINER EA 2,521

DV0238 LOWER IMP THREAD FIX PLT EA 3,752

DV0239 IMPINGER FIXING - FAST T EA 2,521

DV0325 GEAR WHEEL - PINNED MOTOR EA 2,521

DV0343 GRIDDLE CARRIER EA 16,733

DV0344 GRIDDLE CARRIER HANDLE EA 1,904

DV0361 FRONT FILTER ASSY EA 64,686

DV0365 GREASE FILTER BOTTOM CLIP EA 3,350

DV0368 IMPINGER PLATE RESTING P EA 2,521

DV0370 LOWER IMPINGER HANDLE EA 2,521

DV0374 FOAM TAPE LONG EA 2,521

DV0375 FOAM TAPE SHORT EA 2,521

DV0816 CAST REAR DUCTING RH EA 2,521

DV0403 CAST REAR DUCTING LH EA 2,521

DV0431 DOOR HANDLE 402s SERIES EA 12,224

DV0437 402S LOWER TRIM PANEL EA 3,059

DV0452 e4 CAPACITOR CLIP EA 2,521

DV0552 GEAR - STIRRER WHEEL EA 993

DV0638 402S RUBBER BASE EA 2,521

DV0648 CAVITY HOT BOX FINISHED EA 28,367

DV0649 FAN INLET BAFFLE FINISHED EA 9,424

DV0661 THERMOCOUPLE ASSY EA 5,991

PSR123 402S PARTITION PLATE EA 20,207

DV0692 PARTITION PLATE SEAL EA 2,521

DV0700 e4 DOOR SKIN SATIN BRUSH EA 14,161

DV0703 BASE LIP e4 EA 2,521

DV0714 e4s WIRE RACK EA #VALUE!

DV0751 GREASE FILTER TOP CLIP e4 EA 2,521

DV0752 GREASE FILTER HOUSING e4  (NOTE-2 BELOW) EA 5,866

DV0773 CAVITY HOT BOX FINISHED EA 14,878

DV0808 e4s DOOR CHOKE S/S EA 13,603

DV0815 e4s CAVITY THERMOCOUPLE EA 5,521

DV0816 e4s CAST RH DUCT EA 2,521

DV0830 e4s SPEAKER WIRE EA 2,521

DV0838 CONTROL PANEL e4/e4s EA 3,917

DV0840 e4s RH SIDE PANEL EA 8,867

DV0841 e4s LH SIDE PANEL EA 8,867

DV0845 e4s OTS BRACKET EA 876

DV0860 e4 GRIDDLE COOK PLATE EA 9,821

DV0870 COOK PLATE e4s EA 11,019

DV0880 e4s COOK PLATE SHORT EA 11,836

DV0893 e4 P-PRESS FRAME ASSY EA 61,833

DV0894 e4 P-PrRESS LANDING PLATE EA 12,126

DV0895 e4 P-PRESS LOWER GRILL EA 52,412



DV0896 e4 P-PRESS TOP GRILL EA 63,536

DV0907 ENAMELLED S/S RACK e4 EA #VALUE!

DV0908 ENAMELLED S/S RACK e4s EA #VALUE!
DV0922 AIR DIFFUSER e4s v2 EA 19,739

DX0020 TOP CASEWORK  (NOTE-1 BELOW) EA 16,304

DX0021 RHS CASEWORK  (NOTE-1 BELOW) EA 8,702

DX0022 LHS CASEWORK  (NOTE-1 BELOW) EA 8,702

DX0031 CAVITY SHELF RUNNER EA 4,042

DX0058 HOT BOX 2 MOTOR SEAL EA 2,521

DX0059 CAVITY 2 HOT BOX SEAL EA 2,521

DX0077 INSULATION MOTOR WRAP e3 EA 2,521

DX0079 ONE PIECE BASE SEAL EA 2,521

DX0083 FRONT TRIM SEAL EA 672

DX0094 SILICONE FOAM TAPE CUT EA 836

DX0101 MAINS LEAD ASSY AA EA 4,946

DX0102 MAINS LEAD ASSY BC EA 27,758

DX0103 MAINS LEAD ASSY AB EA 4,730

DX0104 MAINS LEAD ASSY DH EA 32,260

DX0106 MAINS LEAD ASSY CE EA 18,567

DX0108 MAINS LEAD ASSY CD EA 18,148

DX0109 MAINS LEAD ASSY BD EA 21,718

DX0110 MAINS LEAD ASSY JE EA 25,683

DX0111 MAINS SUPPLY LEAD BZ 2P  (AZ) EA 32,790

DX0117 SQUARE BAKING TRAY EA 7,482

DX0146 SCREW CAT COVER e3 EA 662

DX0179 RHS CASEWORK V2  (NOTE-1 BELOW) EA 6,982

DX0180 LHS CASEWORK V2  (NOTE-1 BELOW) EA 6,982

DX0191 DOOR CHOKE FINISH V2 EA 14,962

DX0194 HOT BOX FINISH e3 V2 EA 12,707

DX0195 CONTROL BOX V2  (NOTE-1 BELOW) EA 18,806

DX0198 DOOR SKIN FINISH e3 V2 EA 11,501

DX0199 TOP PANEL e3 V2  (NOTE-1 BELOW) EA 8,440

DX0207 FRONT TRIM FIXING e3 v2 EA 3,781

DX0219 RH CASEWORK e3  (NOTE-4 BELOW) EA 6,982

DX0220 LH CASEWORK e3  (NOTE-4 BELOW) EA 6,982

DX0235 REED SWITCH BRAKET  (NOTE-4 BELOW) EA 2,521

DX0254 SQUARE TRAY LINER EA 3,809

P10C0148 MENUKEY ASSY KIT (EC501) EA 36,110

P10C0343 e5 STUD REPAIR KIT EA 10,475

P10M0211 HV DIODE UPGRADE KIT EA 14,906

P11C0319 STIRRER GLASS ASSY EA 30,054

P11C0493 EC503 REMOVABLE CATALYST EA 114621.75

P11C0498 STEAM PIPE WRAPPED ASSY EA 7,674

P11C0535 THV2 STIRRER MTR & MOUNT ASSY EA 14,740

P11C0537 THV2 STIRRER GEAR & SHAF EA 13,053

P11C0578 DOOR FRAME ASSY HARM EA 117737.25

P11C0579 DOOR OUTER COVER ASSY EA 31,085

P11C0593 STIRRER MOTOR ASSY EA 17,660

P11C0595 e5C ELEMENT COVER ASSY EA 118844.25

P11C0606 HOT AIR MOTOR SERVICE KIT EU (e5) EA 94926

P11C0607 HOT AIR MOTOR SERVICE KIT US (e5) EA 96027



P11H0010 HT DIODE ASSEMBLY EA 4,326

P11M0107 PCB ASSEMBLY - UNIVERSAL EA 40,664

P11M0140 STIRRER ASSY EA 4,428

P11M0250 TUNING STUB KIT EA 2,521

P11M0261 PCB ASSEMBLY FAN CONTROL EA 26,970

P11M0262 LAMP ASSEMBLY - MICROCOOK EA 9,284

P11M0267 OVEN BASE ASSY - LH EA 10,616

P11M0268 OVEN BASE ASSY - RH EA 10,616

P11M0269 REAR COVER ASSY (500) EA 40,787

P11M0285 RELAY PCB MICROCOOK - KFC EA 32,008

P11M0326 MC SERIES LOGIC PCB ASSY EA 38,150

P11M0327 MC SERIES RELAY PCB ASSY EA 31,185

P11M0333 FILTERED WIRE ASSY EA 2,521

P11M0334 DOOR ASSEMBLY MC SERIES EA 58,490

P11M0339 MAINS CABLE ASSY - MICROCOOK EA 9,407

P11M0344 HEATER ELEMENT ASSY TA EA 45,140

P11M0351 1.25UF CAPACITOR MOD KIT EA 11,561

P11M0359 PCB ASSY - TURBOAIRE LOG EA 32,469

P11M0364 VCK DIODE MONITOR PCB AS EA 17,513

P11M0367 VCK HT DIODE ASSEMBLY EA 20,534

P11M0384 MEMBRANE ASSY BLUE EA 15,500

P11M0385 MEMBRANE ASSY BLUE EA 25,814

P11M0386 MEMBRANE ASSY 1725 TURBOAIRE BLUE EA 51,080

P11M0387 MEMBRANE ASSY BLUE EA 22,955

P11M0388 MEMBRANE ASSY BLUE EA 42,543

P11M0391 650 DOOR ASSY BLUE EA 173564.25

P11M0392 DIECAST DOOR ASSY BLUE EA 71,876

P11M0393 DIE CAST DOOR KFC ASSY EA 95040.75

P11M0394 KFC MICROCOOK MEMBRANE A EA 21,624

P11M0416 MICROCOOK HD OPTIC LOGIC EA 77577.75

P11M0417 HT DIODE ASSY (EARTH+HT EA 12,954

P11M0426 22R GOLD RESISTOR ASSY EA 10,980

P11M0427 RELAY BOARD MK2 (BRIDGE EA 38,918

P11M0428 SUPPRESSOR ASSY + SPLICE EA 2,521

P11M0430 RELAY PCB T-AIRE (BRIDGE EA 63,715

P11M0440 HD1925 USA RELAY PCB ASS EA 58,291

P11M4334 1804 ASSY DOOR EA 58,490

P11Z0140 DOOR GUIDE ASSEMBLY - LH EA 19,881

P11Z0142 DOOR GUIDE ASSEMBLY - RH EA 23,315

P1922017 ROLL ALUMINIUM TAPE EA 17,397

P20Z0499 SEAL - VERTICAL - 500 EA 4,214

P20Z1355 SHELF - 500mm OVEN EA 18,325

P20Z1356 SHELF - 600mm OVEN EA 20,117

P30M0016 DOOR CHOKE COVER EA 4,851

P30M0027 STIRRER AND ROOF ASSEMBL EA 18,348

P30M0033 HT TRANSFORMER J1338 EA 43,008

P30M0035 HT TRANSFORMER J1342 EA 43,008

P30M0048 MD COOLING FAN ASSY EA 40,133

P30M0061 MAGNETRON PANASONIC 2M24 EA 18,888

P30M0082 OVEN SHELF MC SERIES EA 34,157

P30Z1171 MAGNETRON PANASONIC 2M24 EA 17,960



P30Z1230 60HZ TRANS MULTI TAP EA 44,233

P30Z1233 50HZ TRANS MULTI 220 240 EA 44,233

P30Z1349 MAGNETRON 2M248H-B EA 17,960

P30Z1413 230V 50Hz TRANSFORMER EA 23,864

P30Z1415 TOSHIBA MAGNETRON 2M303H EA 13,859

P30Z1449 HD MAG COOLING FAN EA 28,466

P30Z1463 200V 50Hz TRANS (JAPAN) EA 22,517

P30Z1464 200V 60Hz TRANS (JAPAN) EA 20,616

P30Z1472 MAGNETRON EA 8,954

P30Z1509 e2 TRANS 208-230V 60Hz EA 22,626

P30Z1525 MAGNETRON (JAPAN) e4 JAPAN EA 16,222

P30Z1540 MV HT TRANSFORMER 50Hz EA 30,129

P30Z1558 MV HT TRANSFORMER 60Hz EA 22,694

P30Z5009 TOUCH SCREEN & PCB ASSY (e5) EA 65,343

P30Z5021 CONTROL PCB UNI SRB EA 45,176

P30Z5022 e2s MTR SPEED CONTROLLER EA 53,408

P31Z0042 ROLL TESA TAPE 10M EA 3,299

P31Z0066 BAG x100 CABLE TIES T23R EA 1,941

P31Z1399 ROLL HIGH TEMP TAPE EA 23,261

P40C1151 M/STREAM 501 GREEN VEGI EA 8,299

P40C1157 M/STREAM 501 BLUE SWEET EA 8,299

P40C1423 VITREOUS ENAMEL TRAY EA 8,299

P40M0464 ELECTROSTATIC SCREEN HD SERIES EA 2,521

P40M0747 CHOKE FILLER VERTICAL - 650 EA 2,521

P40M0931 CHOKE COVER (DIE CAST DO EA 4,451

P40M0832 SEAL BOX LAUNCH EA 3,099

P40M0853 SHELF (650MM OVEN) EA 24,292

P40M0861 SEAL - HORIZONTAL - 650 EA 4,740

P40M0862 CHOKE FILLER 650MM HORIZ EA 3,881

P40M0924 CHOKE FILLER 500MM VER EA 4,199

P40M0925 CHOKE FILLER 500MM HOR EA 4,295

P40M0926 DOORSEAL - 500MM VERTICA EA 5,690

P40M0927 DOORSEAL - 500MM HORIZONT EA 5,861

P40M1053 DOORSCREEN DIECAST DOOR EA 5,998

P40M1054 DOORSCREEN-650 (BLUE) EA 18,782

P41C0003 e5 DOOR SEAL KIT EA 8,478

P790052 RED SILICON SEAL LH/RH EA 3,796

P790053 RED SILICON SEAL FRONT/R EA 3,129

PDB0726 e2s UPPER IMPINGER PLATE  (NOTE-6 BELOW) EA 9,320

PDR0005 4 COIL HEAT ELEMENT e5 EA 10,340

PDR0112 SCREW ON FOOT ASSY EA 2,521

PDR0142 HEATER ELEMENT 2200W KIT EA 21,768

PDV0907 ENAMELLED S/S RACK e4 EA 6,514

PDV0908 ENAMELLED S/S RACK e4s EA 3,809

PSA1109 DOOR SPACER KIT EA 9,021

PSA1138 DOOR ASSY  (e4) EA 119037

PSA1180 e4 HOT AIR MOTOR KIT EA 123366

PSA1184 HEATER ASSEMBLY KIT e4 EA 22,662

PSA1188 IMPINGER PLATE BRACKET FIXING KIT EA 15,072

PSA1189 IMPINGER PLATE REPLACEMENT SCREW KIT EA 7,734

PSA1192 GREASE FILTER REPLACEMENT KIT e4  (NOTE-3 

BELOW)

EA 18,230



PSA1193 IMPINGER RESTING PLATE KIT EA 30,881

PSA1215 e4s e4s DOOR ASSEMBLY (COMPLETE) EA 76197

PSA1217 LOW NOISE MODIFICATION KIT  e4 EA 42,853

PSA1240 e4s UPPER IMPINGER PLATE EA 13,082

PSA1241 e4s HOT AIR MOTOR ASSY KIT EA 69,524

PSA1242 e4s HEATER ASSEMBLY KIT EA 13,476

PSA1243 e4s GASKET KIT EA 7,261

PSA1246 e4 LOOM UPGRADE KIT EA 13,468

PSA1248 e4 COOK PLATE KIT EA 10,611

PSA1272 e4/e4s PARTS FLIGHT KIT EA 184952.25

PSA1273 e4s THERMOCOUPLE BKT KIT EA 4,409

PSA1275 e4 PANINI PRESS FIT KIT EA #VALUE!

PSA1283 e4s AIR DIFFUSER KIT EA 10,203

PSA189 CONV CBL 1PH TO 3PH EA 11,306

PSA2101 TOP IMPINGER PLATE SS EA 30,806

PSA2144 DOOR SKIN ASSY e4 EA 42,680

PSA2150 PADDLE PLINTH ASSY EA 43,670

PSA2153 200V COOLING FAN ASSY e4 JAPAN EA 32,831

PSA2154 200V STIRRER MOTOR ASSY e4 JAPAN EA 11,298

PSA2191 e4s IMPINGER PLATE LOWER EA 12,067

PSA2195 e4s COOLING FAN ASSY EA 29,078

PSA2197 e4s DOOR+CHOKE ASSY EA 49,918

SA3138 e4s WAVEGUIDE ASSY EA 12,279

PSA2208 e4/e4s OVEN SPACER KIT EA 26,528

PSA2214 e4s DOOR HINGE KIT EA 47,473

PSA225 MAINS LEAD ASSY (EU) 4-C EA 31,871

PSA226 MAINS LEAD ASSY (UK) 3-C EA 20,874

PSA246 DOOR + CHOKE ASSY (PRESSED) EA 78795.75

PSA266 IMPINGER PLATE LOWER ASS EA 32,108

PSA288 STIRRER MOTOR ASSY PINNE EA 15,891

PSA291 STIRRER ASSY (PINNED) EA 7,538

PSA299 CHICKEN GRIDDLE PLAT X4 EA 40,541

PSA3105 402S GASKET KIT EA 9,105

PSA3113 DOOR SEAL EA 9,862

PSB1111 DOOR HANDLE ASSY MARINE EA 9,317

PSB1124 e2s COOKPLATE IMPROV KIT EA 25,755

PSB1133 e2s HINGE MOUNT UPGRADE KIT EA 29,418

PSB1148 e2s CAVITY x4 STUD FIX  REPLACEMENT C-PLATE 

STUD

EA 5,276

PSB1275 e2s PANINI PRESS FIT KIT EA 185667

PSB179 JET PLATE & WIRE RACK COMBINED EA 27,889

PSB194 e2s PARTS FLIGHT KIT EA 184413

PSB203 e2s COOLING FAN ASSEMBLY EA 29,234

PSB214 e2s DOOR FRAME ASSY EA 39,724

PSB216 LH CASEWORK ASSY  RED EA 21,464

PSB217 RH CASEWORK ASSY  RED EA 21,464

PSB233 e2s RH CASEWORK - CLASSIC EA 14,375

PSB234 e2s LH CASEWORK - CLASSIC EA 14,375

PSB238 CONVECTION MOTOR ASSY e2s EA 87218.25

PSB247 e2s MERCHANDISE PNL RED EA 27,889

PSB248 e2s MERCHANDISE PNL BLK EA 27,889

PSB250 COOLING FAN ASSY  MARINE EA 29,181



PSB252 DOOR FRAME ASSY  MARINE EA 39,724

PSB258 RH CASEWORK ASSY  MARINE EA 15,536

PSB259 LH CASEWORK ASSY  MARINE EA 15,536

PSB285 RH CASEWORK ASSY  BLACK EA 21,464

PSB286 LH CASEWORK ASSY  BLACK EA 21,464

PSB272 e2s MERCHANDISE PNL CLAS EA 27,889

PSB274 e2s JP COOLING FAN ASSY EA 35,134

PSB295 SBX UPPER CATALYST ASSY EA 32,967

PSB3108 ISSOLATED COOK PLATE ASSY  e2s EA 13,877

PSB3117 e2s GRIDDLE COOK PLATE EA 14,431

PSB3122 e2s PTFE WRAPPED IMPINGER EA #VALUE!
PSB3123 e2s DOOR HANDLE ASSY US EA 8,221

PSB3168 PTFE WRAPPED IMPINGER V2 EA 14,130

PSB316 e2s DOOR SEAL EA 9,863

PSB318 e2s STEAM PIPE ASSY EA 10,693

PSB332 CAVITY INSULATION KIT e2s EA 44,517

PSB333 e2s DOOR INSULATION KIT EA 5,207

PSB367 e2s DOOR HANDLE ASSY EA 7,072

PSB391 e2s GASKET KIT EA 6,443

PSB392 e2s LID ASSY - TREND EA 32,555

PSC128 e1s DOOR M/SWITCH ASSY KIT EA 8,716

PSC132 e1s DOOR HANDLE ASSY-ROW EA 9,263

PSC133 e1s DOOR HANDLE ASSY-USA EA 8,501

PSC201 e1s COOLING FAN ASSEMBLY EA 27,262

PSC220 e1s CONVECTION MOTOR ASSEMBLY EA 72,436

PSC222 e1s STIRRER ASSEMBLY EA 6,302

PSC223 e1s STIRRER MOTOR ASSEMBLY EA 11,093

PSC311 e1s DOOR INSULATION KIT EA 7,041

PSC348 e1s DOOR FRAME ASSY EA 45,367

PSG105 DOOR ASSEMBLY COMPLETE e6 EA 87120.75

PSG125 DOOR MICROSWITCH KIT e6 EA 11,033

PSG126 DOOR HINGE KIT e6 EA 29,205

PSG204 STIRRER ASSEMBLY e6 EA 16,611

PSG214 DOOR SKIN ASSEMBLY e6 EA 18,887

PSG225 e6 CONVECTION MOTOR ASSY EA 93120.75

PSG301 DOOR INNER ASSEMBLY e6 EA 74,447

PSG333 DOOR SEAL PACKED e6 EA 9,251

PSJ152 e2 DOOR HINGE KIT EA 45,290

PSJ153 e2 DOOR ASSY (COMPLETE) EA 72,233

PSJ160 e2 DOOR MICROSWITCH KIT EA 27,344

PSJ161 e2/e6 PARTITION PLATE KIT EA 12,807

PSJ180 US CARTRIDGE RETROFIT KIT  e2 EA 13,678

PSJ202 STIRRER MOTOR ASSY EA 10,103

PSJ204 e2 STIRRER ASSY EA 12,410

PSJ209 e2 JET PLATE ASSY EA 7,949

PSJ225 INNER DOOR ASSY e2 EA 53,530

PSJ226 OUTER DOOR SKIN ASSY e2 EA 20,028

PSJ275 e2 PANINI PRESS FIT KIT EA #VALUE!

PSJ313 DOOR GASKET EA 9,586

PSJ262 e2 CONVECTION MOTOR KIT EA 47,879

PSR101 EIKON DOOR HINGE KIT EA 59,800



PSR102 EIKON M/SWITCH BRKT KIT EA 9,374

PSR104 TEMPERATURE CALIBRATION KIT  PACKED EA 22,583

PSR109 DIODE REPLACEMENT KIT EA 6,532

PSR110 TEN SPRING SERVICE KIT EA 9,659

PSR113 TWO SPRING SERVICE KIT EA 3,945

PSR122 e3/e4s STIRR PLATE&SEAL EA 10,969

PSR123 402s/e4 STIRR PLATE&SEAL EA 20,207

PSR126 DOOR M/SWITCH KIT MARINE EA 19,658

PSR139 e2s KCCM KIT GM EA 85082.25

PSR140 e2s x1 STIRR&P/PLATE KIT  SINGLE MAG ONLY KIT EA 10,668

PSR141 e2s x2 STIRR&P/PLATE KIT  DUAL MAG KIT EA 16,746

PSR240 e2s STIRRER MOTOR ASSY EA 10,955

PSR270 STIRRER ASSY e2s & e4s EA 6,802

PSR271 e2s DOOR M/SWITCH KIT EA 19,658

PSR276 e2s JP STIRRER MTR ASSY EA 18,007

PSR317 e2s W/GUIDE&P/PLATE KIT EA 15,222

PSX173 HEATER ASSEMBLY KIT e3 EA 20,636

PSX174 DOOR ASSY e3 EA 81965.25

PSX175 UPGRADE KIT e3N TO e3C EA 61,423

PSX176 VITREOUS TRAY KIT  e3 EA 8,979

PSX195 e3 RETROFIT RESISTOR KIT EA 11,510

PSX196 e3 DOOR FRAME ASSY v2 EA 61,859

PSX199 e3 CERAMIC CAT&SEAL ASSY EA 32,708

PSX196 DOOR FRAME ASSY e3 EA 61,859

PSX203 TURNTABLE DRIVE ASSY EA 8,468

PSX278 WAVEGUIDE AIR DUCT ASSY  e3 EA 7,632

PSX284 e3 CONVECTION MOTOR ASSY  (BROADOCEAN) EA 76204.5

PSX286 e3 COOLING FAN KIT EA 20,881

PSX287 CAVITY STUD UPGRADE KIT e3 EA 17,637

PSX307 e3 DOOR SEAL - PACKED EA 10,424

S16-664 MAGNETRON OVERHEAT STAT - JIAMA EA 299

S36-921 M25 CABLE GLAND BODY & LOCK NUT EA 5,330

SA2110 MAINS CABLE ASSY DE (JP) EA 23,058

SA2111 MAINS CABLE ASSY 1P CHINA EA 5,983

SA2128 MAINS CABLE ASSY PHILIPPINESS EA 29,606

SA2146 MAINS LEAD DZ e4 EA 9,662

SA2147 MAINS LEAD NZ e4 EA 9,727

SA2205 e4 3/PHASE MAINS LEAD EA 15,683

SA2209 e4s 2P PLUG - 1P LEAD HC EA 22,886

SA3107 CAVITY WRAP ASSY  e4 EA 8,929

SA3109 e4 DOOR INSULATION KIT EA 5,204

SA3114 e4s CAVITY ASSY EA 91812

SA312 VENT PIPE EA 3,241

SA3126 GREASE FILTER INSERT e4  (NOTE-2 BELOW) EA 31,876

SA3127 AIR FILTER ASSY e4 EA 16,170

SA3132 e4s CAVITY INNER STEAM PIPE EA 2,521

SA3134 REAR PANEL WELDED ASSY  e4s EA 57,098

SA3136 CAVITY WRAP KIT EA 21,464

SA3137 e4s DOOR INSULATION KIT EA 5,900

SA3138 e4s CAST TUNED WAVEGUIDE EA 12,279

SA3150 e4s LOWER CAT EA 22,159



SA3151 e4s UPPER CAT EA 42,257

SA3153 e4s AIR DEFFUSER ASSY EA 20,331

SA3159 e4/e4s PANINI CHOKE ASSY EA 18,216

SA329 REAR PANEL ASSY EA 26,510

SA351 CATALYST ASSEMBLY - UPPE EA 58,279

SA353 CATALYST ASSEMBLY LOWER EA 39,965

SA358 MENUKEY 2 USB KEY EA 29,703

SA374 CAST WAVEGUIDE ASSY EA 14,158

PSB247 MERCHANDISE PANEL - RED EA 27,889

PSB248 MERCHANDISE PANEL - BLACK EA 27,889

PSB272 MERCHANDISE PNL-CLASSIC EA 27,889

SB281 CONTROL PANEL ASSY JP BK EA 8,421

SB3107 MARINE AIR FILTER BODY EA 42,737

SB3110 PANINI CHOKE ASSY e2s EA 17,957

SB3151 e2sTOP CASEWORK ASSY SB - BLACK EA #VALUE!

SB3162 TOP CASEWORK SBUS BLACK EA 18,064

SB3163 CONTROL PANEL SBUS BLACK EA 23,023

SB3164 DOOR SKIN SBUS BLACK EA 16,813

SB3165 AIR FILTER BODY SBUS BLK EA 18,412

SB314 LOWER CATALYST ASSEMBLY e2s EA 20,429

SB325 UPPER CATALYST ASSEMBLY e2s EA 30,166

SB326 AIR FILTER FRAME ASSY e2s EA 5,237

SB363 e2s PARTTITION PLATE EA 2,480

SB373 e2s LID ASSEMBLY - CLASSIC EA 12,920

SB374 USB PLASTIC PARTS ASSY EA 2,039

SB379 CONTROL PANEL - RED EA 19,639

SB380 CONTROL PANEL - BLACK EA 19,639

SB381 DOOR SKIN - RED EA 13,777

SB382 DOOR SKIN - BLACK EA 13,777

SB383 AIR FILTER BODY - RED EA 15,706

SB384 AIR FILTER BODY - BLACK EA 15,706

SB398 LID ASSEMBLY  CL  MARINE EA 15,194

SC310 CAVITY INSULATION KIT EA 8,213

SC333 STEAM PIPE ASSY EA 908

SC341 DUCT ASSEMBLY EA 4,727

SC344 PARTITION PLATE EA 4,235

SC349 AIR FILTER FRAME ASSEMBLY EA 10,619

SC351 BACK PANEL ASSY EA 11,047

SC360 LH SIDE CASEWORK EA 8,703

SC361 RH SIDE CASEWORK EA 8,703

SG303 e6 CAVITY ASSY EA 237558

SG330 WAVEGUIDE ASSY e6 EA 18,827

SG335 e6 GREASE FILTER SHELF EA 7,466

SG336 e6 BACK ACCESS PANEL EA 3,982

SG337 e6 DOOR INSULATION KIT EA 4,831

SG338 e6 CAVITY INSULATION KIT EA 27,530

SG339 e6 STEAM PIPE ASSY EA 4,556

SG343 e6 JET PLATE ASSEMBLY EA 13,607

SJ301 STEAM TUBE ASSY e2 EA 2,729

SJ302 WAVEGUIDE ASSY e2 EA 21,800

SJ305 CAVITY ASSY e2 EA 180063.75



SJ310 GREASE FILTER ASSY e2 EA 7,066

SJ311 MOTOR MOUNT ASSY e2 EA 11,204

SJ314 SIDE COVER RHS ASSY e2 EA 11,837

SJ315 SIDE COVER LHS ASSY e2 EA 11,837

SJ317 e2 DOOR INSULATION KIT V2 EA 3,103

SJ318 e2 CAVITY INSULATION KIT V2 EA 24,920

SJ320 e2 BACK PANEL ASSY EU EA 9,829

SJ325 e2 LID ASSY EU EA 12,396

SJ326 e2 SIDE COVER RH ASSY US EA 13,161

SJ327 e2 SIDE COVER LH ASSY US EA 13,161

SJ328 e2P BACK PANEL ASSY EA 8,675

SJ358 e2 CAVITY THERMOCOUPLE EA 16,665

SJ381 e2 P-PRESS G/FILTER ASSY EA 7,146

SJ382 e2 PANINI CHOKE ASSY EA 18,076

SJ371 ROBUST AIR FILTER EU EA 2,521

SR206 POWER SUPPLY LEAD GC 3P (EU) EA 24,588

SR210 POWER SUPPLY LEAD HE 1P (EU) EA 16,465

SR216 MAINS SUPPLY LEAD GK (AZ) e4/e5 EA 27,185

SR219 MAINS SUPPLY LEAD DJ BRAZIL EA 25,945

SR227 SNUBBER ASSY EA 2,521

SR228 MAINS SUPPLY LEAD DJ e3 & e4 EA 38,067

SR229 MAINS SUPPLY LEAD DE EA 21,614

SR233 e4s MAINS CABLE AZ 5P EA 28,342

SR234 e4s SINGLE PHASE CABLE 3CORE BLUE PLUG EA 22,290

SR235 e4s US MAINS LEAD ASSY DF EA 14,512

SR236 e4s MAINS CABLE 1P KE CN EA 25,783

SR239 e4s MAINS CABLE 2P+N+E EA 24,988

SR241 MAINS SUPPLY LEAD e2s AA 13A EA 3,635

SR242 MAINS SUPPLY LEAD e2s AB 16A EA 2,744

SR244 MAINS LEAD SUPPLY e2s DF 30A UD EA 13,440

SR245 MAINS SUPPLY LEAD e2s DH 30A TWIST LOCK EA 24,632

SR246 MAINS SUPPLY LEAD e2s DJ 30A BRAZIL EA 11,380

SR248 MAINS SUPPLY LEAD e2s GC 30A 2 PHASE EA 18,198

SR249 MAINS SUPPLY LEAD e2s GK 30A 2 PHASE AUSTRALIA EA 22,100

SR250 MAINS SUPPLY LEAD e2s HE 30A BLUE PLUG EA 11,048

SR251 MAINS SUPPLY LEAD e2s KE 30A CHINA EA 11,905

SR252 MAINS SUPPLY LEAD e2s LE 30A JAPAN EA 14,382

SR253 MAINS SUPPLY LEAD e2s MH 30A PHILIPPINES EA 25,393

SR255 MAINS SUPPLY LEAD e2s SN 20A US EA 22,873

SR256 MAINS SUPPLY LEAD e2s SP 15A US EA 24,513

SR258 MAINS SUPPLY LEAD e2s BD 16A TWIN PHASE R/A 

PLUG

EA 15,177

SR259 MAINS SUPPLY LEAD e2s AV CN DOMESTIC EA 5,431

SR277 MAINS LEAD SUPPLY e2s  JP EA 13,601

SR280 MAINS SUPPLY LEAD XA 13A EA 4,504

SR281 MAINS SUPPLY LEAD XB Schuko  16A EA 4,219

SR282 MAINS SUPPLY LEAD XC 16A EA 6,608

SR283 MAINS SUPPLY LEAD XD EA 12,621

SR284 MAINS SUPPLY LEAD XE EA 6,809

SR285 MAINS SUPPLY LEAD XF EA 7,679

SR286 MAINS SUPPLY LEAD XG EA 3,014

SR287 MAINS SUPPLY LEAD XH EA 26,445



SR288 MAINS SUPPLY LEAD XJ EA 23,338

SR289 MAINS SUPPLY LEAD XL EA 7,860

SR290 MAINS SUPPLY LEAD XM EA 39,331

SR310 LARGE PADDLE ALUM ASSY EA 7,891

SR312 e2 PIZZA PADDLE EA 5,850

SR313 GENERIC HANDLE V2 EA 3,945

SR314 FAN BLADE ASSEMBLY e3 & e5 EA 7,269

PSR317 e2s WAVEGUIDE ASSEMBLY EA #VALUE!

SR318 GUARDED PADDLE e2s EA 4,310

SR320 LARGE PADDLE WITH HAND GUARD EA 9,115

SR322 e2 PADDLE WITH SIDES EA 8,435

SR329 e2/e2s STACKING TROLLEY EA 151331.25

SR331 e2s PANINI PRESS PADDLE EA 4,310

SR334 LONG e2s PADDLE EA 6,122

SX274 FRONT TRIM SUB-ASSY V2 EA 13,106

PSX307 DOOR SEAL ASSY EA 10,424

SX308 e3 FRONT TRIM ASSY EA 34,885

SX310 OVEN BASE ASSY 400 e3 EA 23,919

SX315 CERAMIC CAT CONVERTER EA 48,831

SX317 CAVITY + HOT BOX WRAP KIT EA 13,420

SX318 DOOR INSULATION KIT EA 5,840

SX320 STEAM PIPE ASSY e3 EA 4,187

SX328 AIR FILTER ASSY e3 EA 13,775

SX333 REAR CASEWORK ASSY e3 v2  (NOTE-1 BELOW) EA 12,182

SX334 EXHAUST DUCT ASSY e3 v2 EA 5,360

SX335 FRONT TRIM ASSY e3 V2 EA 12,620

SX336 OVEN BASE ASSY e3 V2 EA 21,997

SX338 CAVITY ASSY e3  (NOT-5 BELOW) EA 68,785

SX339 e3 AIR FILTER ASSEMBLY FRONT TRIM  (NOTE-5 

BELOW)

EA 19,871

Terms & Conditions

1)GST/IGST as applicable

2)Price list is valid till 31st March 2022.

3) 1 GBP = INR 102, Prices will change when GBP increases/decreases by INR 3


